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p = int(input("E XIS &=

q = int(input("E2E L3AI2: "))
print("Lt= &2l K=" p//q)
print("Lt= &2l LIH XI=", p % q)
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number = int(input("8 =S &

LEHGHAI2: M)

print(number%2)

Ve _
QI GHAI2: 28

A=
=g

© 0

LFHA| OJAFA}O| QF
L L o

bl

HT
Ng

EEHR|Of Al2HS 2HOLA]

sec = 1000

min = 1000 // 60
remainder = 1000 % 60
print(min, remainder)
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Lab: EFEE 3217

foriin range(6) : #
t.forward(100) # Bt=5}t
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Solution
import turtle

t = turtle.Turtle()
t.shape("turtle)
n =int(input("E2& 2 2l ABAHL?(3-6): "))

foriin range(n) :
t.forward(100)
t.left(360//n)
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americano_price = 2000
cafelatte_price = 3000
capucino_price = 3500

americanos = int(input("OtHI 219t = ZHOH JH==: "))
cafelattes = int(input("2} Hl 2t Gl EZHOH JH =2 "))
capucinos = int(input("ItE X = ZtOH JH==: "))

sales = americanos*americano_price
sales = sales + cafelattes*cafelatte_price
sales = sales + capucinos*capucino_price
print("E O£ 2", sales, " LILC}.")
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o

ftemp = int(input("StM25: "))
ctemp = (ftemp-32.0)*5.0/9.0
print("& M 2 &:", ctemp)
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BMI Chart
BMI less than 18.50 Underweight
BMI 18.50 - 24.99 Healthy weight
height in meters? 1 25.00 - 29.99

(weightin kilograms )

BMI =

BMI 30 or more Obese

SEHE kg &2 LS GHAIL: 85.0
J1E 0IH S22 S H0tAI2:1.83
&4l 2] BMI= 25.381468541909282
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Solution
o

weight = float(input("S S H E kg &HRIE L STHAIL2: "))
height = float(input("9| £ DI& S22 LSHSIAIL: ")

bmi = (weight / (height**2))
print("& &1 2 BMI=", bmi)
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Solution

money = int(input("S
2

>t =)
price = int(input("2 2 gt: "))

[== Ry
2

change = money-price
print("HA&=:", change)

coin500s = change // 500
change = change % 500
coin100s = change // 100

print("500% S&™
print("100& S&

#50022 L0l Al 201 5003 Mtel el JH ==
#5002 2 L& LHH XIS HIAFSHC
#10022 L0l Al 201 100& Mtel 2l JH ==

Ol JH==:", coin500s)
MOl JH==:", coin100s)
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Xl ==(power)E H &G & *x AJMIIE ALSSHLL.

>>> 2 ** 7
128

aclz At

>>> a=1000
>>>r=0.05
>>>n=10

>>> a*(1+r)**n
1628.894626777442
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num num + 2
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X +=y X=x+y
X—=y X=%x-Y
X'=y x=x"y
x/=y x=x/y
X %=y X=X%Y
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x =1000

print("= 2 gt x=", x)

X +=2;

print("x += 2 2| x=", x)

X -=2;

print("x -= 2 22| x=", x)

p
%3213} x= 1000

x += 2 29 x= 1002
| X-=2 2/ x=1000




- =& (comment)2
olct =4 T2y
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ctemp = (ftemp-32.0)*5.0/9.0
print("& M 2 &:", ctemp)
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>>>10+ 20 /2
20.0

>>> (10 + 20) /2
15.0
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= int(input("X B1M =
y = int(input("s B =2
z = int(input("Ml I =E
avg=x+y+2z/3
print("® & =", avg)
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=int(input("x HIH =2 L&EGIAI2:"))
= int(input("S Bl =5 & =EotAI2: "))
=int(input("Ml EHIH =& LS StAI2: "))

avg=(x+y+2z)/3

print("& < =", avg)
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